Phát hiện và sửa các lỗi trong các đoạn code sau 

	Code
	Nhận xét

	Số Amstrong

	PROGRAM Amstrong;

CONST fi='AMSTRONG.INP';

        go='AMSTRONG.OUT';

VAR f,g:Text;

        N:LongInt;

PROCEDURE Nhap;

BEGIN

        Assign(f, fi);

        Rewrite(f);

        ReadLn(f,N);

        Close(f);

END;

PROCEDURE HaiChuSo;

VAR chuc, donvi:Byte;

BEGIN

        chuc:=n div 10;

        donvi:=n mod 10;

        IF sqr(chuc)+sqr(donvi):=N THEN

                Write(g,'Yes.')

        ELSE

                Write(g,'No.');

END;

PROCEDURE BaChuSO;

VAR tram,chuc, donvi:Byte;

BEGIN

        tram:=n div 100;

        chuc:=(n div 10) mod 10;

        donvi:=(n mod 100) mod 10;

        IF sqr(tram)*tram+sqr(chuc)*chuc+sqr(donvi)*donvi=N THEN

                Write(g,'Yes.')

        ELSE

                Write(g,'No.');

END;

PROCEDURE Xuat;

BEGIN

        Assign(g, go);

        ReWrite(g);

        IF (N<10) THEN

                Write(g,'Yes.')

        ELSE    IF (N<100) THEN

                        HaiChuSo

                ELSE    IF (N<1000) THEN

                                BaChuSo

                        ELSE IF N=1000 THEN

                                Write(g,'No.');

        Close(g);

END;

BEGIN

        Nhap;

        Xuat;

END.



	!!

	PROGRAM GGThua;

CONST fi='GGThua.INP';

        go='GGThua.OUT';

VAR N, KQ:LongInt;

        f:Text;
PROCEDURE Nhap;

BEGIN

        Assign(f, fi);

        ReSet(f);

        Read(f, N);

        Close(f);

END;

PROCEDURE Chan;

VAR i:LongInt;

BEGIN

        KQ:=1;

        FOR i:=1 TO n DO

                IF (i mod 2=0) THEN

                        KQ:=KQ*i;

END;

PROCEDURE Le;

VAR i:LongInt;

BEGIN

        KQ:=1;

        FOR i:=0 TO n DO
                IF (i mod 2<>0) THEN

                        KQ:=KQ*i;

END;

PROCEDURE Xuat;

BEGIN

        Assign(g, go);

        ReWrite(g);

        Write(g, KQ);

        Close(g);

END;

BEGIN

        Nhap;

        IF (N mod 2=0) THEN

                Chan

        ELSE

                Le;

        Xuat;

END.



	PT Bậc 2

	PROGRAM PTBac2;

CONST fi='PT2.INP';

        go='PT2.OUT';

VAR f, g:Text;

        a, b, c:Real;

PROCEDURE Nhap;

BEGIN

        Assign(f, fi);

        ReSet(f);

        Read(f, a, b, c);

        Close(f);

END;

PROCEDURE Bac1;

BEGIN

        IF b=0 THEN

                IF c=0 THEN

                        Write(g,'Vo so nghiem.')

                ELSE

                        Write(g,'Vo nghiem.')

        ELSE

                Write(g,'x = ',-c/b);

END;

PROCEDURE Bac2;

VAR delta:Real;

BEGIN

        Delta:=sqr(b)-4*a*c;

        IF delta#0 THEN

                Write(g,'Vo nghiem.')

        ELSE

                IF delta=0 THEN

                        Write(g,' x1 = x2 = ',-b/(2*a))

                ELSE

                        begin

                                WriteLn(g,'x1 = ',(-b+sqrt(delta))/(2*a));

                                WriteLn(g,'x2 = ',(-b-sqrt(delta))/(2*a));

                        end;

END;

BEGIN

        Nhap;

        Assign(g, go);

        ReWrite(g);

        IF a=0 THEN

                Bac1

        ELSE

                Bac2;

        Close(g);

END.



	Kiểm tra nguyên tố

	PROGRAM Matrix;

CONST fi='MATRIX.INP';

        go='MATRIX.OUT';

VAR f,g:Text;

        N: LongInt;

        a:array[1..100] OF LongInt;

PROCEDURE Nhap;

VAR i:LongInt;

BEGIN

        Assign(f, fi);

        ReSet(f);

        Read(f, N);

        FOR i:=1 TO N DO

                Read(f, a[i]);

        Close(f);

END;

FUNCTION NguyenTo(b:LongInt):Boolean;

VAR i:LongInt;

BEGIN

        NguyenTo:=True;

        IF b<2 THEN NguyenTo:=False;

        FOR i:=2 TO (b div 2) DO

                IF b mod i=0 THEN

                        begin

                                NguyenTo:=False;

                                Break;

                        end;

END;

PROCEDURE Xuat;

VAR i:LongInt;

BEGIN

        Assign(g, go);

        Reset(g);

        FOR i:=1 TO n DO

                IF NguyenTo(a[i])=false THEN

                        Write(g, a[i], ' ');

        Close(g);

END;

BEGIN

        Nhap;

        Xuat;

END.


	Code
	Nhận xét

	Số Amstrong

	const Input='Amstrong.inp';

      Output='Amstrong.out';

var n:integer;

    Fi,Fo:text;

{_______________________________________}

function somu(a,b:integer):integer;

var ib,i:integer;

begin

        ib:=1;

        for i:=1 to b do

        ib:=ib*a;

        somu:=ib;

end;

{_______________________________________}

function kiemtra(x:integer):integer;

var dv,j,s,i:integer;

a:array[1..5] of integer;

begin

        i:=0;

        s:=0;

        while x<>0 do

                begin

                        dv:=x mod 10;

                        a[i]:=dv;
                        i:=i+1;
                        x:=x div 10;

                end;

        for j:=1 to i do

        s:=s+somu(a[j],i);

        kiemtra:=s;

end;

{---------------------}

begin

        assign(Fi,Input);

        reset(Fi);

        readln(Fi,n);

        assign(Fo,Output);

        rewrite(Fo);

        if kiemtra(n)=n then

        writeln(Fo,'yes')

        else writeln(Fo,'no');

        close(Fo);

        close(Fi);

end.



	!!

	const Input='GGThua.Inp';

      Output='GGThua.Out';

var n: integer;

    Fi,Fo:text;

{_______________________________________}

procedure Nhapn;

begin

        assign(Fi,Input);

        reset(Fi);

        read(Fi,n);

        close(Fi);

end;

{_______________________________________}

procedure tinh;

var tich,i:longint;

begin

        assign(Fo,Output);

        rewrite(Fo);

        tich:=0;

        for i:=1 to n do

        begin

                if n mod 2=0 then

                if i mod 2=0 then tich:=tich*i;

                if n mod 2<>0 then

                if i mod 2<>0 then tich:=tich*i;

                end;

        write(Fo,tich);

        close(Fo);

end;

{_______________________________________}

begin

nhapn;

tinh;

end.



	PT Bậc 2

	const Input='PT2.Inp';

      Output='PT2.Out';

var a,b,c:longint;

    delta:longint;

    Fi,Fo:text;

{_______________________________________}

procedure pt;

begin

        assign(Fi,Input);

        reset(Fi);

        read(Fi,a,b,c);

        close(Fi);

        assign(Fo,Output);

        rewrite(Fo);

        delta:=b*b-4*a*c;

        if a=0 then

        begin

         if b=0 then 
            write(Fo,'pt vo nghiem')

         else 
                   write(Fo,'pt co nghiem la x=',(-c)/b);

        end

        else

                begin

                  if delta=0 then 
                      write(Fi,'pt co nghiem x1=x2=',(-b)/(2*a));

                  if delta<>0 then

                   begin

                   writeln(Fo,'x1=',((-b)+sqrt(delta)) /(2*a):6);

                   write(Fo,'x2',((-b)-sqrt(delta))/(2*a):6);

                   end;

                   if delta<0 then 
                          write(Fi,'pt vo ngiem');

                end;

close(Fo);

end;

{_______________________________________}

begin

        pt;

end.



	Kiểm tra nguyên tố

	const Input='Matrix.Inp';

      Output='Matrix.Out';

type mang=array[1..100] of integer;

var n,i:integer;

    A:mang;

    Fi,Fo:text;

{_______________________________________}

function ktnt(x:integer):integer;

var dem,i:integer;

begin

        dem:=1;

        if x>1 then

        begin

                for i:=1 to trunc(sqrt(x)) do

                if x mod i=0 then

                begin

                        dem:=0;

                        break;

                end;

                ktnt:=dem;

                exit;

        end;

end;

{_______________________________________}

begin

        assign(Fi,Input);

        reset(Fi);

        read(Fi,n);

        for i:=1 to n do read(Fi,A[i]);

        close(Fi);

        assign(Fo,Output);

        rewrite(Fo);

        for i:=1 to n do

        if ktnt(A[i])=1 then                             write(Fo,A[i]:3);

        close(Fo);

end.

	Code
	Nhận xét

	Số Amstrong

	const inp='amstrong.inp';

      outp='amstrong.out';

var a:array[1..4]of integer;

    n:integer;

(*********************************************)

procedure input;

var fi:text;

    i:integer;

begin

    assign(fi,inp);

    reset(fi);

    readln(fi,n);

    close(fi);

end;

(*****************************************************)

function luythua(x,m:integer):longint;

var lt,i:longint;

begin

    lt:=1;

    i:=1;

    for i:=1 to m do

        lt:=lt*x;

    luythua:=lt;

end;

(*****************************************************)

function sochuso(b:integer):integer;

var i:integer;

begin

    i:=1;

    while b div luythua(10,i) >1 do

        i:=i+1;

    sochuso:=i;

end;

(*****************************************************)

function tong(b:integer):integer;

var s,scs,t,tam:integer;

begin

    scs:=sochuso(b);

    for s:=scs-1 downto 0 do

        begin

            a[s]:=b div luythua(10,s);

            b:=b mod luythua(10,s);

        end;

    t:=0;

    for s:=scs-1 downto 0 do

    t:=t+luythua(a[s],scs);

    tong:=t;

end;

(******************************************************)

function kiemtra(b:integer):boolean;

var

    ams:boolean;

begin

    tong(b);

    if b=tong(b) then ams:=true

    else ams:=false;

    kiemtra:=ams;

end;

(*******************************************************)

procedure output;

var fo:text;

begin

    assign(fo,outp);

    rewrite(fo);

    if kiemtra(n)=true then writeln(fo,'yes')

    else writeln(fo,'no');

    close(fo);

end;

(*********************************************************)

begin

    input;

    kiemtra(n);

    output;

end.

	!!

	const inp='ggthua.inp';

      outp='ggthua.out';

var n:byte;

(*****************************************************)

procedure input;

var fi:text;

begin

    assign(fi,inp);

    reset(fi);

    read(fi,n);

    close(fi);

end;

(******************************************************)

function giaithuachan(n:byte):word;

var gt:word;

begin

    if n=2 then gt:=2

    else

        gt:=giaithuachan(n-2)*n;

    giaithuachan:=gt;

end;

(*****************************************************)

function giaithuale(n:byte):word;

var gt:word;

begin

    if n=1 then gt:=1

    else

        gt:=giaithuale(n-2)*n;

    giaithuale:=gt;

end;

(******************************************************)

procedure output;

var fo:text;

begin

    assign(fo,outp);

    rewrite(fo);

    if n mod 2=0 then write(fo,giaithuachan(n))

    else write(fo,giaithuale(n));

    close(fo);

end;

(******************************************************)

begin

    input;

    output;

end.



	PT Bậc 2

	const inp='pt2.inp';

      outp='pt2.out';

var a,b,c,x1,x2,delta:real;

(*********************************************************)

procedure input;

var fi:text;

begin

    assign(fi,inp);

    reset(fi);

    read(fi,a,b,c);

    close(fi);

end;

(*********************************************************)

procedure giai(a,b,c:real);

begin

    delta:=b*b-4*a*c;

    if delta =0 then x1:=-b/2*a

    else

        if delta >0 then

            begin

                x1:=(-b+sqrt(delta))/(2*a);

                x2:=(-b-sqrt(delta))/(2*a);

            end;

end;

(*********************************************************)

procedure output;

var fo:text;

begin

    assign(fo,outp);

    rewrite(fo);

    if delta=0 then write(fo,x1)

    else

        if delta>0 then writeln(fo,x1,' ',x2)

        else write(fo,'phuong trinh vo nghiem');

    close(fi);

end;

(*********************************************************)

begin

    input;

    giai(a,b,c);

    output;

end.



	Kiểm tra nguyên tố

	const inp='matrix.inp';

      outp='matrix.out';

var a:array[1..100]of integer;

    n:integer;

(***************************************************)

procedure input;

var fi:text;

    i:integer;

begin

    assign(fi,inp);

    reset(fi);

    read(fi,n);

    for i:=1 to n do

        read(fi,a[i]);

    close(fi);

end;

(***************************************************)

function kiemtra(m:integer):boolean;

var j:integer;

    nt:boolean;

begin

    nt:=true;

    j:=1;

    if m=2 then nt:=true

    else

        if m=1 then nt:=false

        else

            while (j<sqrt(m)) and (nt=true) do

                begin

                    j:=j+1;

                    if m mod j = 0 then            

nt:=false;

                end;

    kiemtra:=nt;

end;

(***************************************************)

procedure output;

var fo:text;

    i:integer;

begin

    assign(fo,outp);

    rewrite(fo);

    for i :=1 to n do

        if kiemtra(a[i]) = true then write(fo,a[i],' ');

    close(fo);

end;

(***************************************************)

begin

    input;

    output;

end.


	Code
	Nhận xét

	Program tinh;

Uses crt;

Var  n,t:integer; f1,f2:text;

Const  inp='ggthua.inp';

           Outp='ggthua.outp';

Procedure  input(inp:tring);

Begin

Assign(f1,inp);

Reset(f1);

Readln(f1,n);

Close(f1);

End;

Procedure output(outp:string);

Begin

Assign(f2,outp);

Rewrite(f2);

Writeln((f2,t);

Close(f2);

End;

Begin

Input; 

i:=1; t:=1;

If (n mod 2 <>0) then 

Begin

While (I mod 2<>0) and (I mod (n+2) <> 0) do 

Begin

I:=i+2;

T:=t*I;

End;

End

Else

Begin

While (I mod 2=0) and (I mod (n+2)<>0) do

Begin

I:=i+2;

T:=t*I;

End;

End;

Output;

End.


